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6L | SEIE EF A 2UHF R S1|S2|S3|S4|s5|s6|s7|S8|S9(s10] L E D H Time A Total Score | REFEEIR
1 1 BA FIRTE FTOLZIUA BARNSURYLHZT 4 14 (4 (4|44 |6 |44 |72 15.3 79| 9.60 13.97 0.0 | 46.77 46.77 4
2 22 Tl #X DEND NILF INRESURYDHZT 2 |4 (4 (4|2 |3 (3 |4]4|4]2 16.4 34| 9.50 14.19 0.0 | 4349 43.49 8
3 2 BEO %8 TrTF AR INRSURYLHZT 2 |14 (4|6 |5|4|5|4]|8|5]|2 15.1 57| 9.80 12.87 0.0 | 4347 43.47 9
4 16 ISP ATOF XA BARNSURYLHZT 4 |15 (44|66 |2 |4]|4(|41]0 15.7 51| 9.30 12.79 00| 4289 42.89 5
5 15 AR HMx AV LT FF INRSURYDHZT 212 (22|12 (1]|2]2|2]|0 18.2 1.1 {10.00 13.16 0.0 | 4246 42.46 2
6 6 i B% THhLS 4D BARNSURYLHST 4 14 5|5 |6 |6 |[4|4]|6|4]1 15.1 51| 9.70 12.50 00| 4240 42.40 10
7 1 B tiE IIAT FF= AV RYLHZT 5|6 (6 |6 |6 |6 |5 |6]|6 |60 14.2 51| 9.60 12.79 0.0 | 41.69 41.69 3
8 3 tBHA MEX DAL ThY BARNSURYLHZT 6 |6 (5|4 |6 |42 |4]|6 6|1 15.0 39| 9.60 12.48 0.0 | 40.98 40.98 1
9 18 HE W A/ v/ BARNSURYLHST 8|4 |6 |8 |44 |46 |4 |60 14.6 29| 9.70 12.94 0.0 | 40.14 40.14 6
10 8 BB YAF L e M= Wing*Rana KUMAMOTO 2 (2|2 |44 |4 (2|2 |4]4]0 17.0 1.1] 9.90 11.69 0.0 | 39.69 39.69 7
11 14 B&F & [y e WAV BARNSURYLHZT 6 |6 (7|6 |6 |6 |4 |67 |6 (20| 120 57| 880 12.83 00| 39.33 39.33 -
12 12 IS fERE oY RS EKBNURYLHZT 6 |6 (44|44 (84|66 |0 14.8 18| 9.80 12.34 00| 38.74 38.74 -
13 17 #HE UOBED A4/9T S/ AIVRSURYLHZT 6|8 |6 |8 |6 |8 |4 |8]|10(6 |3 12.7 51| 9.10 11.84 00| 38.74 38.74 -
14 23 %k =5 b Ly S EKBNURYLHST 6 |4 (4|4 |44 |4 44610 15.6 19| 9.50 11.04 0.0| 38.04 38.04 -
15 7 Mk BE IYFH YD EKBNURYLHZT 8|6 (4 (4|6 |5 (|4 |4]4 (610 14.9 20| 9.80 10.68 00| 3738 37.38 -
16 10 HE=x A4 3Fs BARNSURYLHZT 4 14 (412 |42 |3 [4]8 0 145 27| 820 11.72 00| 3712 37.12 -
17 13 mE KE 473 T3Y BARNSURYLHZT 6 |6 (6 |6 |4 |5 (|4 |4]6 7|2 14.4 15| 9.50 11.50 0.0| 36.90 36.90 -
18 19 18 %A FHOT FUF EKBNURYLHZT 8|6 (6 |6 |5|5 (|5 |6]|8/|7]2 13.6 25| 9.70 10.52 0.0 36.32 36.32 -
19 9 EH #HE 174217 EKBNURYLHZT 8|8 (7|6 |7 |8 |7 |7 ]|6|7]|2 12.7 19| 9.70 10.12 0.0 | 3442 34.42 -
20 20 flE BEEP AVER RN HRENSURYLHFT 8|8 (87|78 |8 |8]8|8]3 11.9 1.1 {10.00 8.29 00| 31.29 31.29 -
21 5 =L SR cMY< LT BARNURYLHZT 6 |8 0 2.6 12| 2.00 2.42 0.0 8.22 8.22 -




